1/4/2013
Example of one-way GRIP (type=0):
Dataset: UCLA
Between factor: MD_ID

Replicate: (none)
Type: 0 (1-way)
Dependent variable: ACCESS

Title1: UCLA – all subjects
Title2: ACCESS
%GRIP(indata=UCLA , targetv=md_id, repeatv=, dv=access, type=0, t1=UCLA - all subjects, t2=ACCESS);

[NOTE: the type is 0 and repeatv is left blank.]
Output:

UCLA - all subjects                                                                   
ACCESS
    GRIP

                   Degrees of     mean      Label  for

    Source          freedom       square    mean Square

    ----------------------------------------------------------

    Between              498     3653.56        BMS

    Within             16686      647.47        WMS

    ----------------------------------------------------------

    Total              17184

    Model            Reliability   ICC    N4rel.70  N4rel.80  N4rel.90    N4rel.95

    -------------------------------------------------------------------------------------------------

    One way

      Biased           0.823    0.119       17.31     29.67     66.76       140.94

      Unbiased         0.823    0.119       17.31     29.67     66.76       140.94

    -------------------------------------------------------------------------------------------------

